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(Vi) uy7 w23 @1 wo Ru o PRaER WA & Y@ aEtas w1 qsig

300 |/ T-0661_A 1 AR N AN P-T-O.




Instructions :
(1)  All questions are compuisory.
(1) Read the instructions of question paper carefully and write their answers.

(iii) Questions from I to § are 30 objective type questions. Each objective question

carries 1 mark.
(iv) Internal options are given in questions from 6 to 23.

(v) Questions from 6 o 17 are very short answer type questions.

Word limit is 30 words. Each question carrics 2 marks.

(vi) Questions from 18 to 20 are short answer type questions.

Word limit is 75 words. Each question carries 3 marks.

(Vi) Questions from 21 to 22 are long answer type questions.

Word limit is 120 words. Each qQuestion carries 4 marks,

(viii) Answer of Question No. 23 should be indicated on the outline

map of India
as directed.
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HE foea gt fafam:

Choose and write the correct option:

(i)

T SR ¥ Wi & faa § wme d-

(W) wEm @) gEUu
@ dwu (]) argar

India’s rank in the world in sugarcane production is —

(a) First (b) Second

(c) Third (d) Fifth

(ii) By o s gan oy

300

(o) ol ¥ ®) wig
®) w3 () onfgan ¥
The

Grimm brothers were born in -

(a) Gennany (b)  France
(¢) Russia

@) 1928 ¥
(@) 1925 &

was founded in

@ 1927 () 1928
) 1929 (d) 1925
! T-0661 A
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(iv) '*mmwmmm%mwﬂﬁrﬁmﬂmé
W&mﬁml"ﬁmﬁmm?
(o) e e (@ dew et
(@ s Rt @ 3Frew

“The printing press is the most powerful engine of progress and public
opinion is the force that will sweep despotism away”. - Who said?

(a) Martin Luther (b) Johan Gutenberg
(¢) Louise Mercier (d) Erasmus
(v) T e P R A A B ¥ A w At A ¥
(@) o 3 o % dra I s
(@) s g e At gew @t & T s v
(@) Sres—aEH B FEH B FEHH FIAA
(@) wEaite srenet ¥ aftwmel B qaeH @ A T e
When we speak of gender divisions we usually refer to :
(a) Biological difference between men and women
(b) Unequal roles assigned by the society to men and women.
(¢) Unequal sex ratio of children
(d) Absence of voting rights for women in democracies.
(vi) =W &1 ofigaRE & ¥-
(%) Frava @ fwer
(®@) wewrll atfml @ B=
The formal source of credit is :
(a) Employers (b} Relatives

(c) Co-operative Societies (d) Friends
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=6
frar waril @1 it AT .

Fill in the blanks :
¥ 599 e OH A D

At the international level, the Club of Rome advocated resource

conservation in

(ii) mwﬁaﬁwwwmmmm & ¥
is the authority to certify both Indian and foreign films.
(iii) IETEAR T SFes due & Us Praita gae A

The liberal politician was an elected member of the Frankfurt

Parliament.
(iv) _____ at smaiita wrnfve fawe R s ® #1

Social division based on ____are particular into India.
(v) Twdifys aaen TeEfas 9t smufd @ ¥

Democracies are based on political
(Vi) Hfra 9w WY & I ¥

Gmund water is an example of IESOurces.
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1x6=¢

3w/ o fefeg:
Write True / False :
' Az |
() WrE % 8w T 27 S &
About 27 percent of area of India is the plains.
' g YT B
Gty e o @ w, R 33 @1 e o9 o503 & R T T
Dam is a barrier across flowing water that obstructs, directs or retar ds the
flow.
(iii) Rgdies § we &1 Ge QUAT HYST AR )
One of the oldest cloth markets in London was at Smithficld.
(iv) Prdfearewi e ¥ ger o & dr-geii ofe Gotiafiy ot % wret & ay S
W qeels A8 2 d|
In Victorian Britain the upper classes — the aristocrats and the bourgcoisie
were not preferred things produced by hand.
v) T @ A fafv ey _
Power sha d
g recuces the conflict among differeny communities
(vi) TR W ¥ Bl 7 T 2 e
qmT
Our Constitution did not give the Status of Natje
langu: hal language to .
guage. any one
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w8 S -

N
(a) WYF T WEEA
(b)  serzfres e
(¢) & i
(d) frafema o

(¢) wrufs &%

(f) Jius @

Match the correct pairs:
A
(a) Joint Forest Management

(b) Electronic Capital

(c) lLabour Parly
(d) Republican Party
(¢) Primary Sector

() Tertiary sector
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(i)
(ii)
(iii)
(iv)
(v)

(vi)

(i1)

(iii)
(iv)
(v)

(vi)

7

1x6=6

AfEm

TgwT T AT

B

Agriculture, mining, dairy, fishing

lransport, storage, communication,

Banking
Odisha
Bengaluru
The USA

The Britain
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@ g A g Qg >4

Answer the following in one sentence:
(i) SusEEr Iam ke
What is consumer industry?
(i) v wiad F 47
Who was the Bhai Bhonsle?
(iii) 99 &1 TH AT ‘o AR JYAT 7 feE forar?
Who wrote the popular song of Assam ‘O Mor Apunar Desh’?
(iv) aftoas & GRS §@R B §79 @ ST § 7
Who elects the community gdvenunent in Belgium?
(v) wFE fame gEsis B o wen s wRh ¥
Which organization releases Human Development Index?

(vi) Prgg ot et w1 o @R T

What is the aim of World Trade Organization?

qft frefmro & @ oned &7 2

What is meant by land degradatior.l?

s /| OR

qEY HyeEs O wEd £ 7

What is sheet erosion?

.
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7w g A QA fagraand, faftad !
Write two features of plantation agriculture.

s [ OR
mmahﬁmﬁaﬁtgﬁaﬁa’sfasmﬁ.%ﬂm

Write two characteristics of carly subsistence agriculture.
rite -

g ey mé v e wEd R
What is motor vehicle industry?
v /| OR
et T 68 FEd ¥ 7

What is co-operative industry?

9 I g el § arg aftae st wEeqet i ¥ 7
Why air transport is more important in North Eastern States?
Fqm /| OR
RS i Rew wfcdern 4w amerg ¥ 2

What is meant by Prime Minister Rural Road Project?

10 widh ¥ i @ ¥ @O Wi & qiee aanr

What means of achicving Swaraj did Gandhiji tell in *Hind Swara)"?

Jquq | OR
frefifean worgr Redr e st en 7

Who was called an indentured labour?
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1 mmmﬁtﬁs@aﬁwﬁgﬁmﬁ@%wﬂd}aﬁmww%?_ 2

What docs it mean when we say that the world started shrinking in sixteen

century?

s /| OR
v faya g3 & ofeiftes gg Fa@t s w7 fifag)

Why the first world war was called an Industrial War? Write.

12 SHEdl ¥ & ofd ® g o S & wmR @ geer o 1 ? 2
What problem did weavers and artisans face in the end of the 19th century?
A [ OR
TR % & wd fafay

Write two functions of Gumasta.

B daht 3w B @1 frw e i e 7
How did print culture influence the French Revolution?

a1 /| OR

Wﬁwﬁ%mﬁaﬂhﬁrﬁﬁwaﬁt@wmﬁm|

bxplain the role of Vernacular

newﬁpapers‘?

' T0661_A
e

Press Act in suppression of nationalist
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14 mmmmmmﬂﬁmmﬁwmﬁmﬂ 2
g AR
Give your two suggestions to strengthen political parties so that they can do
their work better.
sya | OR
U T § T AN ¥ P weesd |
What is meant by Affidavit? Explain it
15 dredifys e TR A WEA A9 § J5aT H/ &7 2
Why democratic governance system is better than other governance systems?
Sy | OR
@R & L § TS UG B & A9 99 BH-3H F 8 7 fafae)
What are the sources you have for getting information about the government ?
Write it. https://www.mpboardonline.com
16 wFafeq d9@ & 2 fasward fafae 2

Write two characteristics of organized sector.
qyq /| OR

el & T A B & @ IJury fafigu

Write two ways to generale employment in urban areas.

3 -
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17 AodiEor B w23 AR HH BB q 47
What are the factors promoting globalization?

svar /| OR

sl ¥ 29 @ AT B qEA AW Fq A7

What was the main medium of connecting the countries in the past?

18 wrcha st () sfufrs 1972 % wga e R 3
Write the main provisions of the Indian Wild Life Protection Act, 1972.
s | OR I
3rq fafewar 7 § 7 9% wE ofew & fog @ Al 7

What is biodiversity? Why is biodiversity important for human lives?

19 U A wEen N T e e ¥ s we P 3

Explain the difference between Federal government system and Unitary

government system.,

syar / OR

T & Rt % d am R

Write three benefits of decentralization of power

NNy PO
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21

22

w1 a1 § 5 &% 3B woked @ & 27 & frg IR T B 7
What are the reasons why the banks might not be willing to lend to certal
borrowers?
aq@ / OR
W W ¥ % e il F TR B & o &7

Why do we need to expand formal sources of credit in India?

W % gdt a2 w0 Rua agh ool #1 @i Bif

Describe the sea ports located on the east cost of India.

aqa /| OR
qrE ¥ T EET & frao & yaifaa #1199 SR g

Write four reasons affecting the distribution of rail transport in India.

guw fava 959 A W ¥ U FiEe % Rrem & g ww anee R g 1
aqrear Hfg |

How the First World War helped in the growth of the National Movement in

India? Explain it.

@ /| OR
afa s A ¥ At # weierh B seifag At

Mention the participation of women in Civil Disobedience Movement.
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23 wra & "t § Prefufea & aaisd-
(1) Fagsr
(i) T
(111) AnIEy

(1v) doay

Show the following in the outline map of India
(i}  Satpura
(1) Ennore
(ii1) Namrup

(1v) Talcher

J9q [ OR
W % At ¥ Peefiieg o) EHl Eol
() wzh |
(ii) =roge
(iii) wmimay
(iv) Fammge

Show the following in the outline map of India
(1)  Katnj

(i) Koraput
(i1i) Marmagao

(iv) Bilaspur
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